1) Here are two groghs which show the outside temperatures during Mouy:
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What iz the some and what is different obout the two graphs?

Same: Different:

Z) Herz are the temperatwres of o town taken from 02:00 to 13:00 on two days:
—a Monday #---8 Tuesdoy
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d) How many times on Tuesdoy was there an increase in temperature of more than 1°C?

€] How many degress did the temperature on Monday rise from 05:00 to 10007

f) OnTuesday, which waos the greoter temperature rise: from 05:00 to 0800 or from 03:00 to 11:007
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—=a Bilol ®---# Tom 1) Bilal and Tom hove been growing
sunflower plonts over 12 weehs.

Thiz line graph shows the growth of

==em Y, their plants.

S0cm
LEcm . Here are some statements about the groph. Write
- & whether they are correct or incorract. If they are
azem = incorrect, explain why.
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c) Tom's plant grew 60cm from when it was planted.

d) The grentest growth of Tom's plant wos between weeks 10 and 12

€) The growth of Bilol's plant from the stort to week & was greater than from week 6 towesk 12,

f) Tom's plant was approximaotely 25cm tall ot week 5.

g) By week &, the omount ench plant hed grown was the some.

h) From week & toweehk 12, Bilal's plont grew 10cm more than Tom's plant.

Write 2 stotements of your own about the line groph, for your partner to complete. Moke one statement that is
correct and one that is incorrect




1) Here iz a line graph to show the journey the Lewis family made when they were visiting

their grandmother.
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Between which times do you think the following hoppensd? Exploin why you think this

a) The family stopped for lunch.

b) The family trovelled on the motoreay.

c) The family were cought in slow moving traffic.

2) Here are three line grophs. Write o story for each grophe
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ANSWERS

1)

2)

1)

2)

Same: Different:
= The two graphs show the same data. = The zecond graph has an extra increment on
the x-axiz.
« The labelz on the x-axis and the y-axiz on
each graph are the sams. = The second graph has an extra increment on
the y-axis.
» The inerement labels on x-axiz of both
graphz are the same. = On the first graph, the y-axis iz divided into
multiples of 2°C.
« The line iz the same.

o) Tuesday

b) Monday

c) 03:00 - 05:00 and 05:00 - 9:00

d) 3 times

€] 5°C

f) 08:00 to 11:00

a) Correct

b) Incorrect~ at weck 10, Bilal's plant was 40cm, by week 12 it was 55cm. The growth was 15e¢m.

¢) Incorrect - the plant started at 15cm when it wasz planted and grew to 60cm. This was a growth
of 45¢cm.

d) Correct

¢) Incorrect ~ Bilal's plant grew 15cm from the start to week 6 and 35cm from week 6 to week 12.

f) Correct ~ as the rate of growth was not measured accurately at week 5 so Tom's plant measured somewhere
between 25cm and 30cm tall. Children may suggest that the graph shows that Tom's plant was slightly taller
than 25cm but this iz based on an estimate of average growth between weeks 4 and 6.

g) Correct

h) Incorrect ~ Bilal's plant grew 35cm from wecks 6 to 12 and Tom's plant grew 30em. Bilal’s plant grew 5em

more than Tom's.

Multiple answers possible, for example:

True ~ Tom's plant was the tallest in week 12,

False ~ Bilal's plant grew the more between wecks 2 and 4 than between weeks 10 and 12.



1) o) Between 12 p.m. and 1 p.m. the family stopped for lunch. There was no distance covered during

2)

b)

)

thiz time meaning the family had ztopped.

Between 1 p.m. and 2 p.m. the family travelled on a motorway. Thiz iz the time that the most

distance was covered in an hour, indicating that they were travelling faster which they can do on

a motorweoy.

25km during this time, suggesting they were moving slowly.

Between 2 p.m. and 3 p.m. the family were caught in slow moving traffic. The family only travelled about

a) Multiple answers possible,
such as:

The graph shows the growth

in height of o puppy. For the
first few weehs, the puppy grew
steadily. Then, there were a few
weeks where the puppy's height
remained the same. The last few
weeks, the puppy had a

growth spurt.

b) Multiple answers possible,
such as:

The graph shows the journey
from school to the seaside. When
the journey started, they
travelled at a constant speed
and covered more than half of
the distance. They then stopped
for lunch for an hour. After that,
they completed the last part of
the journey at a constant speed.

¢} Multiple answers possible,
such as:

Two friends set off from schosl
to their own homes, one on a
bicycle, the other walking. The
friend who travelled by bicycle
lived further away from school.
They both stopped at a shop for
some time before completing
their journey home.




